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The joint probability density function of two random variables X and Y is given by

_ [ 3e (=43 0<z,0<y;
fX,Y(m’ y) = {0’ otherwise.

Note: el = 2.718281828

Determine the E{XY} 0.33.  [The answer should be a number rounded to five decimal places,

don't use symbols such as %]
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Here, we are given that,

The joint probability density function of two random variables X and Y is given by
XY (xy)={3e-1x*3¥) 0<x,0<y
0, otherwise.

Now, here we find the value of E(XY) as follows.
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Suppose that X and Y have the following joint probability disfribution:

Joint Probability Mass Function of X and Y

Y=1 Y=3 Y=5
=1 0.1 0.01 0.15
=2 0.12 0.09 0.53
Determine the mean of X ( by ).|1.74  [The answer should be a number rounded fo five decimal places, don'f use

symbols such as %]

Determine the mean of Y ( by ). |3.92 [The answer should be a number rounded fo five decimal places, don'f use

symbols such as %]

Determine the covariance between X and Y ( puxy ). |6.96 = [The answer should be a number rounded to five decimal

places, don't use symbols such as %]
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The joint probability density function of two random variables X and Y is given by

= Joc = in < a0 <y
fX'Y(z’y) i {0, otherwise.

Note: e! = 2.718281828

Find the P(X < 1.3,Y < 0.7).|0.85¢ [The answer should be a number rounded fo five decimal

places, don't use symbols such as %]

Findthe P(X < 0.4,Y <1.2/X < 3.8).|0.67° [The answer should be a number rounded to five

decimal places, don't use symbols such as %]
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The joint probability density function of two random variables X and Y is given by

_[Kzy, 0<z<4,1<y<4
fxy(z,y) = { 0,  otherwise.

Determine the value of the constant K. |0.01« [The answer should be a number rounded fo five

decimal places, don't use symboils such as %]
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The joint probability density function of two random variables X and Y is given by

_J1e =t1) 0<z,0<y;
fX,Y(z’y) e {0, otherwise.

Note: e! = 2.718281828

Find the Fx y(0.3,0.3).[0.06. [The answer should be a number rounded to five decimal places,

don't use symbols such as %]
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Let X denote the number of times a certain numerical conirol machine will malfunction: 1, 2, or 3 fimes on any given day.
Let Y denote the number of times a technician is called on an emergency call. Their joint probability distribution is given
as

Joint Probability Mass Function of X and Y

Y=1 Y=3 Y=5
=1 0.06 0.07 0.04
=2 0 0.03 0.01
=3 0.06 0 0.73

Find the P(X = 3). 0.79 [The answer should be a number rounded to five decimal places, don'f use symbols such as
%]

Find the P(X = 3/Y = 5).|0.93. [The answer should be a number rounded fo five decimal places, don't use symbols

such as %]

Find the Fxy (3,2).[0.12  [The answer should be a number rounded to five decimal places, don't use symbols such as

%]
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